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AGRICULTURE

Paper-VII

(Introduction to Agricultural & Natural Resource

Economics & Farm Management Economics)

Time Allowed : Three Hours ] [ Maximum Marks : 50

Note : Attempt questions from all sections as per

instructions.

meYeer KeC[eW mes ØeMveeW keâes efveoxMeevegmeej nue keâerefpeS~

Section-A

KeC[-De

(Numerical/Analytical/Problematic Questions)

(vÙetcesefjkeâue/efJeMues<eCeelcekeâ/mecemÙeelcekeâ ØeMve)

Both questions are compulsory. Each ques-

tion carries 5 marks. 5×2=10

oesveeW ØeMve DeefveJeeÙe& nQ~ ØelÙeskeâ ØeMve 5 DebkeâeW keâe nw~

1. What is production function? Differentiate be-

tween production function and production pro-

cess.
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10. What is difference between primitive and sci-

entific agriculture?

ØeeÛeerve SJeb Jew%eeefvekeâ Kesleer ceW keäÙee Devlej nw?

11. Describe  the effect of deforestation on envi-

ronment.

Jeve efJeveeMe kesâ heÙee&JejCe hej heÌ[ves Jeeues ØeYeeJe keâe JeCe&ve

keâerefpeS~

12. Explain the Characteristics of indifference curve.

lešmLelee Je›eâeW keâer efJeMes<elee keâes mecePeeFÙes~

13. Differentiate between divesified and mixed

farming.

efJeefJeOeerke=âle SJeb efceefßele Kesleer ceW Devlej efJeYeso keâerefpeS~

14. Explain causes of backwardness of Indian ag-

riculture.

YeejleerÙe ke=âef<e kesâ efheÚÌ[sheve kesâ keâejCeeW keâe JeCe&ve keâerefpeS~

15. What is sustainable agriculture?

efškeâeT Kesleer keäÙee nw?



Glheeove heâueve efkeâmes keânles nQ? Glheeove heâueve Deewj Glheeove

Øeef›eâÙee ceW Yeso keâerefpeS~

2. A person has monthly income of Rs. 20,000

which has now increased to Rs.25,000. His

family demand for sugar consumption in-

creased from 25kg to 30kg per month. Cal-

culate income elasticity of sugar demand.

Skeâ JÙeefkeäle keâer ceeefmekeâ DeeÙe ™. 20,000 mes yeÌ{keâj ™.25,000

nes peeleer nQ, Fmekesâ keâejCe Gmekesâ heefjJeej keâer Øeefleceen Ûeerveer keâer

ceebie 25 efkeâ.«ee. mes yeÌ{keâj 30 efkeâ.«ee. nes peeleer nQ~ JÙeefkeäle keâer

Ûeerveer keâer ceebie keâer DeeÙeueesÛe keâer ieCevee keâjes~

Section-B

KeC[-ye

(Short Answer Type Questions)

(ueIeg GòejerÙe ØeMve)

Attempt any fifteen questions. 2×15=30

efkeâvneR 15 ØeMveeW keâe Gòej efueefKeS :

3. Describe Consumer surplus with example.

GheYeeskeälee Deeflejskeâ keâer GoenjCe meefnle JeCe&ve keâerefpeS~
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4. What is difference between Macro and Micro

economics?

meceef° SJeb JÙeef° DeLe&MeeŒe ceW keäÙee Devlej nw?

5. Describe law of diminishing return.

Üemeceeve Øeefleheâue efveÙece keâe JeCe&ve keâerefpeS~

6. What is difference between fixed cost and vari-

able cost?

efmLej ueeiele SJeb heefjJele&veMeerue ueeiele ceW keäÙee Devlej neslee nw?

7. What is difference between risk and uncer-

tainty?

peesefKece Deewj DeefveefMÛelelee  ceW keäÙee Devlej nw?

8. Describe Average Cost (AC) and Marginal Cost

(MS).

Deewmele ueeiele Deewj meerceeble ueeiele keâe JeCe&ve keâerefpeS~

9. What is effect of cropping intensity on soil Pro-

ductivity and soil fertility?

heâmeue meIevelee keâe ce=oe Glheeokeâlee SJeb ce=oe GJe&jlee hej keäÙee

ØeYeeJe heÌ[lee nw?

(2) (3)



16. What is relationship between agriculture and

industry?

ke=âef<e Deewj GÅeesie ceW keäÙee mecyevOe nw?

17. What is opportunity cost?

DeJemej ueeiele keäÙee nw?

18. What is importance of farm records and ac-

counts in farm management?

Øe#es$e ØeyebOe ceW Øe#es$e DeefYeuesKeeW SJeb KeeleeW keâe keäÙee cenlJe nw?

19. What is irrigation management? Explain con-

trol measures of misure of irrigation water.

efmebÛeeF& ØeyebOe keäÙee  nQ? efmebÛeeF& kesâ peue keâe og™heÙeesie jeskeâves kesâ

GheeÙeeW keâes mecePeeFÙes~

20. What is effect of crop rotation on soil fartility?

heâmeue Ûe›eâ keâe ce=oe GJe&jlee hej keäÙee ØeYeeJe heÌ[lee nw?

21. Explain measures of increasing form profitabil-

ity.

Øe#es$e keâes ueeYekeâejer yeveeves kesâ GheeÙe mecePeeFÙes~

22. Describe general law of utility with example.

GoenjCe meefnle ceebie kesâ meeceevÙe efveÙece keâer JÙeeKÙee keâerefpeS~

(5)
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Section-C

KeC[-me

(Long Answer Type Questions)

(oerIe& GòejerÙe ØeMve

Attempt any one question. 1×10=10

efkeâmeer Skeâ ØeMve keâe Gòej oerefpeS~

23. Describe different system of farming. What are

the reasons of unsuccess of cooperative farm-

ing in India?

efJeefYevve ke=âef<e ØeCeeefueÙeeW keâe JeCe&ve keâerefpeS~ Yeejle ceW menkeâejer

Kesleer keâer Demeheâuelee kesâ keäÙee keâejCe nQ?

24 Differentiate between System of farming and

type of farming. Explain merits and demerits

of diversified farming.

ke=âef<e kesâ Øekeâej Je ke=âef<e ØeCeeueer ceW Devlej efJeYeso keâerefpeS~

efJeefJeOeerke=âle Kesleer kesâ iegCe Je oes<eeW keâes mecePeeFÙes~

25. What do you mean by farm budgeting and

farm planning? Give suitable measures of in-

creasing  farm profitability.

 Øe#es$e yepeš SJeb Øe#es$e Ùeespevee mes Deehe keäÙee mecePeles nQ? Øe#es$e

keâes ueeYekeâejer yeleeves kesâ GheÙegkeäle megPeeJe oerefpeS~

(6) (7)
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